

شماره ۲۰

۲۰ آفرین

ادرس محمدي

$$1) \lim_{x \rightarrow 2} \frac{2x-5}{x^2+ax+b} = -\infty \quad \left\{ \begin{array}{l} \lim_{x \rightarrow 2} x^2+ax+b = 0 \\ \lim_{x \rightarrow 2} 2x-5 = -1 < 0 \end{array} \right. \Rightarrow x^2+ax+b = (x-2)^2 = x^2-4x+4$$

در این دو طرف ضرایب x را مقایسه می‌کنیم و ثابت می‌کنیم $a+b=0$

$$2) \lim_{x \rightarrow \sqrt{2}} \frac{x}{x^2+ax+b} \quad \left\{ \begin{array}{l} x^2+ax+b = f(x) \\ \lim_{x \rightarrow \sqrt{2}} f(x) = 0 \Rightarrow f(x) = (x-\sqrt{2})^2 = x^2-2\sqrt{2}x+2 \end{array} \right.$$

$\lim_{x \rightarrow \sqrt{2}} (x) > 0$ در این دو طرف ضرایب x را مقایسه می‌کنیم و ثابت می‌کنیم

$$\left[\frac{b}{a} \right] = \left[\frac{+2\sqrt{2}}{-2\sqrt{2}} \right] = \left[-\sqrt{2} \right] = -1$$

$$3) \lim_{x \rightarrow (\frac{\sqrt{2}}{2})^+} \frac{[-x]+a}{|\frac{\sqrt{2}}{2}x+a|+a} = \lim_{x \rightarrow (\frac{\sqrt{2}}{2})^+} \frac{a-1}{|\frac{\sqrt{2}}{2}x+a|+a} = -\infty$$

$$\Rightarrow \left| \frac{\sqrt{2}}{2}x + a \right| + a = 0 \rightarrow -a = \left| a + \frac{1}{\sqrt{2}} \right| \Rightarrow a^2 = a^2 + \frac{2}{\sqrt{2}}a + \frac{1}{2} \Rightarrow a = -\frac{1}{\sqrt{2}}$$

$a < 0$

$$[a] = -1$$

$$4) x > -\frac{1}{2} \rightarrow x^2 < \frac{1}{4} \rightarrow \frac{1}{x^2} > 4 \rightarrow \frac{-2}{x^2} < -1 \rightarrow \left[\frac{-2}{x^2} \right] = -1$$

$$\Rightarrow \lim_{x \rightarrow -\frac{1}{2}^+} \frac{14x - (-9)}{2x^2 + 11} = \lim_{x \rightarrow -\frac{1}{2}^+} \frac{14x + 9}{2x^2 + 11} = +\infty$$

$\frac{1}{x^2} > 11 \rightarrow \left[\frac{1}{x^2} \right] = 11$

$$5) x > 2 \rightarrow x^2 > 1 \rightarrow [x^2] = 1$$

$$\lim_{x \rightarrow 2} \frac{x^2-1}{x^2-(1)} = \lim_{x \rightarrow 2} \frac{x+1}{x^2+2x+1} = \frac{3}{17} = \frac{1}{3}$$

$$4) \lim_{x \rightarrow -1} \frac{(x+2)(x+1)}{4(\sqrt[3]{x}+2)} = - \lim_{x \rightarrow -1} \frac{x+1}{\sqrt[3]{x}+2} = - \lim_{x \rightarrow -1} \frac{\sqrt[3]{x}+1}{\sqrt[3]{x}+2} \left(x^{\frac{1}{3}} \pm 2x^{\frac{1}{3}}+4 \right)$$

$$= \underline{\underline{-12}} \quad \checkmark$$

$$5) \sqrt{1+\cos x} - \sqrt{1-\cos x} = \frac{1+\cos x - (1-\cos x)}{\sqrt{1+\cos x} + \sqrt{1-\cos x}} = \frac{2\cos x}{\sqrt{1+\cos x} + \sqrt{1-\cos x}}$$

$$\sqrt{1-\cos x} = \sqrt{1 - (1 - 2\sin^2 \frac{x}{2})} = \sqrt{2} \left| \sin \frac{x}{2} \right| \rightarrow -\sqrt{2} \sin \frac{x}{2}$$

$$\lim_{x \rightarrow 0^-} \left(\frac{2}{\sqrt{1+\cos x} + \sqrt{1-\cos x}} \right) \cdot \frac{1}{-\sqrt{2}} \cdot \frac{2 \cdot \frac{x}{2}}{\sin \frac{x}{2}} = \frac{2}{2\sqrt{2}} \cdot \frac{1}{-\sqrt{2}} \cdot 2 = \underline{\underline{-1}}$$

$$1) \lim_{x \rightarrow 0} \frac{k + \cos(\sqrt{a}x)}{kx^2} = \infty \rightarrow k + \cos(0) = 0 \Rightarrow k = -1$$

$$\lim_{x \rightarrow 0} \frac{1 - \cos(\sqrt{a}x)}{x^2} = \lim_{x \rightarrow 0} \frac{2 \sin^2 \left(\frac{\sqrt{a}}{2} x \right)}{\frac{4}{9} \cdot \frac{a}{4} x^2} = \frac{2}{\frac{4}{9}} = \frac{9}{2} = \infty \Rightarrow a = 9$$

$$\frac{a}{k} = \underline{\underline{-\frac{9}{2}}}$$

$$9) \lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x-\sqrt{a}} + \sqrt{x-\sqrt{a}}}{\sqrt{x-\sqrt{a}} \cdot \sqrt{x+\sqrt{a}}} = \lim_{x \rightarrow \sqrt{a}^+} \frac{2\sqrt{x-\sqrt{a}}}{\sqrt{x+\sqrt{a}}} = L$$

$$\lim_{x \rightarrow \sqrt{a}^+} \frac{\sqrt{x-\sqrt{a}}}{\sqrt{x-\sqrt{a}}} \cdot \frac{\sqrt{x+\sqrt{a}}}{\sqrt{x+\sqrt{a}}} \cdot \frac{\sqrt{x-\sqrt{a}}}{\sqrt{x-\sqrt{a}}} = \lim_{x \rightarrow \sqrt{a}^+} \frac{x-\sqrt{a}}{x-\sqrt{a}} \cdot \frac{\sqrt{x-\sqrt{a}}}{\sqrt{x+\sqrt{a}}} = 0$$

$$L = \frac{2 + 2(0)}{\sqrt{4a}} = \frac{2}{\sqrt{4a}} = \frac{1}{\sqrt{a}} a^{-\frac{1}{2}} = \underline{\underline{\frac{\sqrt{a}}{a}}}$$

$x > -1: x^2 - 1 < 0 \rightarrow -k[x] + 1 > 0: k < \frac{1}{x-1} \left\{ k \in (-1, \frac{1}{x-1}) \right.$
 $x < -1: x^2 - 1 > 0 \rightarrow -k[x] + 1 < 0: k > \frac{1}{x-1} \left\{ k \in (\frac{1}{x-1}, \infty) \right.$
 Clear? $\leftarrow k < 0, \cos < 0 \leftarrow \text{شك}$

Scanned with